SECONDARY SCHOOL EXAMINATION — 2022 (ANNUAL)

SCIENCE (Compulsory)
fagm (srfrar)

Sub. Code - 112

o YTl DI AT — 80+24+6=110

Total No. of Questions - 80+24+6=110

THYg 1 2 9 45 fiAc qurid - 80
Time : 2 Hrs. 45 Minutes Full Marks : 80

9= <91 : General Instructions :-

1. qRierefi OMR TR UFd WR U1 U YRADBT HAIS (10 3Dl B1) 3Gy
ford |
Candidates must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

2 RIeAefT JATAYT MU Treal H Bl IR G |
Candidates are required to give their answer in their own words as
far as practicable.

3. wifeed ik EIRE W R gy sl quie Rl axa §)
Figures in the right hand margin indicate full marks.

4. 9 U U Bl SMYdd UgH @ fo1¢ Rl w1 15 Aee &1 ifaRea
|qAY f&am 4T 7 |

15 minutes of extra time have been allotted to the candidates for
reading the questions carefully.

5. UE YT TT GUS| H 7, EUS—3 Ud WUs—9 |
This question paper is divided into two sections - Section-A and

Section-B.
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Gus—3 H 80 IRIMS UL B | 59 ¥ P8l 40 YAl BT IR <1 © |
Ud e & foly 1 3 FuiRa €| afe g udemedi 40 94 1 geAl

HT IR <dT § d YIH 40 U & IR BT &1 Hodidh BN | DT SR

ST B TC OMR ITR—IFF H T T T g Bl Aol / Bled dfl

U | W | A AT UBR &7 ggeR /TR Uared /=fs /ARIA IS Bl
OMR STR-U3& H YANT HRAT 797 &, AT YRAeT RO =T 81T |
In Section-A, there are 80 objective type questions; out of which
any 40 questions are to be answered. If a candidate answers more
than 40 questions, then answers of first 40 questions will be
evaluated only. Each question carries 1 mark. Darken the circle
with blue/black ball pen against the correct option on OMR Answer
Sheet provided to you. Do not use Whitener/liquid/blade/nail etc.
on OMR Answer Sheet; otherwise the result will be invalid.

GUs—q ¥ 24 Y IR U ¢ | Ry fawy Aifae s, |rA
IYRF UG oild 99 & e—ame U 71 U fawg difde o,

AT WRA Td Silg A9 | IR—aR Ul &l IR ol & | AP D
forg 2 s MuiRa 21 5o sifdaRad 58 @vs # 6 < ST U &y
MU g fH A 2 U3 Wi ARF B, 2 U AT AR S Td 2 U
Sitg faem= & €1 Wifde I & <" SNy U3 b oY 6 i, I
UE Td Siig e @& v 5-5 e FEiRd | uRie v «ifis
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YRS, AR IS U4 Sifd fasi| ¥ Uh—Udh U9 I IA¥ oAT Iif-ard
g |

In Section-B, there are 24 short answer type questions. Out of
which each subject (Physics, Chemistry and Biology) consists of
eight questions. Four questions are to be answered from each
subject Physics, Chemistry and Biology. Each question carries 2
marks. Apart from these, there are 6 Long Answer type questions
two each from Physics, Chemistry and Biology. Long Answer Type
questions from Physics carries 6 marks each, and from Chemistry
and Biology carries 5 marks each. Answer of one question each
from Physics, Chemistry and Biology is compulsory.

8. Pl YR & Sclagi-id SUBRT BT TART qofadr afoid 2 |

Use of any electronic device is strictly prohibited.

IYusg—3l / Section A

qxqfass 39 / Objective Type Question

U W1 1 ¥ 80 P AT U B 599 A fbel 40 YAl Pl TR o & |
TS U & 91 IR fAden Ry 1y € RFH 9 wa 981 21 U9 §RT g4 Y |l
f®wed & OMR e W ffzd & | 40 X 1 = 40

Questions Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to mark

your selected option on the OMR sheet. 40 x 1 =40

1. g H S99 3T Hal I g © °
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A s ¥ B. qo #
C. a1 ¥ D. %ol #

Where are the reproductive organs found in plants?

A. in root B. in flower
C. in stem D. in fruit
TS FITOT bl fhar Bl & —

A. igalt B. BaaT
C. Woifaat # D. & dref o

The process of photosynthesis takes place in -

A. animal B. fungus

C. parasite D. green plants

YT I fehaT § SfTaRfoT fhg I a1ex fAdhadr 8 ?

A S B. T
C. CO, D. fSfdearm 9

From which oxygen comes out during the process of

photosynthesis?
A. Water B. glucose

C. CO, D. dictyosomes
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TSR USRIt ®al uTs Sl © 2
A JoHd H B. 3Ty H
C. 3FeT H D. 4z ¥

Where are the gastric glands found in?

A. Liver B. Stomach

C. Pancreas D. Mouth
TATSHIfTRIT BT Ufshar AU~ Bl & —

A. Hrer ¥ B. ox& |

C. Arscroifvgar # D. ®If¥dT g7 §

The process of glycolysis takes place in -

A. Stomata B. Nucleus

C. Mitochondria D. Cytoplasm

3ATS T Uchlgdl b bR & 999 W §9d7 & ?

A. Idg B. 3@amdry

C. ATd B gHi D. 398 9 &lIs gl

Ethyl alcohol is made from which type of respiration?

A. Aerobic B. Anaerobic

C. Both Aand B D. None of these
I VIS fa-ErdT Uy B ' ?

A Tfsaa B. fUcgew

C. Agal D. ofavrss
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10.

Which is the smallest endocrine gland?

A. Adrenal B. Pituitary

C. Medulla D. Thyroid

el & IRER RN W S & BT Bl AT BEAd 7 —
A TR B. arwrcqSiA

C. IR D. ==

The process of loss of water from the aerial parts of the plant is

called -

A. Diffusion B. Transpiration
C. Pollination D. Fertilization
oET AT U B —

A JaT BT B A B. dFI & &4l |
C. IS &I B A D. #iemr ¥

Goiter disease develops from

A. Blood loss B. Due to lack of sugar

C. lodine deficiency D. Obesity

Jad H Bob Uil T & Uiy g9 &l ded § —

A. TSI B. fo s

C. ¥™g D. 9%<g Yad HiOThIU
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11.

12.

13.

Light yellow colored sticky substance in the blood is called -
A. Plasma B. Lymph

C. Serum D. WBC

ITATd A9 & UGV Bl Had & —

A. RahI B. THiex
C. oidemrex D. RepvaATex

The device for measuring blood pressure is called -

A. Stethoscope B. Ammeter

C. Lactometer D. Sphygmomanometer

arIeaSi fhar ardl St 8 —

A. Siget ¥ B. dief #

C. Uil 3R Sigatt &1 o D. s° 9 @13 &l
Transpiration is found in

A. Animals B. Plants

C. Both plants and animals  D. None of these
fr=feRaa # fas genm IREERT TF Uy 1@ © 2
A 3¢ H B. drer #

C. faer=rcer D. #1919 ®

Open circulatory system is found in which of the following?
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14.

15.

16.

A. Camel B. Horse

C. Cockroach D. Human

IFT T B 7

31, ugref 9. 3db

. BIfABT T T O hls 81

What is blood?
A. Matter B. Tissue
C. Cell D. None of these

T3 BT Urell 37 {59 auie & HROT BT 87

3. DI J. FARICIRT
. IRIPH ERCAGIRSIRS

Which pigment causes the yellow colour of urine?
A. Leucoplast B. Chloroplasts

C. Urochrome D. Chromoplasts

f=forfad # o9 va Swafelll o<y 7 ?
3. grefl EARID

A T DYl

Which of the following is a hermaphrodite animal?

8
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17.

18.

19.

A. Elephant B. Cow

C. Dog D. Earthworm
IRAT Y& § BBl W YA DRl 57

3. gah A 9. Bhel |

q. Iq5d | S g A DIS eI

Where does urea enter the blood from?

A. Kidney B. Lungs

C. Liver D. None of these

SIg AT YR BT dTell R © —

A. CFC B. DDT

C.ATP T T Y Blg oI

It is a chemical showing biomagnifications —

A. CFC B. DDT

C. ATP D. None of these
fferRad # & &4 vd wrfie SuHad 27?

31, JATYCH d. 2AThIER
SAKISIEE T |AERI

Which one of the followings is a Primary consumer?

A. Decomposer B. Herbivores
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20.

21.

22.

23.

C. Carnivores D. Omnivores

FfTRIT  BIF U AT STed’ T IQTSRIT 57

3. il EAGE

RARSE CANISIC]

Which of the following is an example of ‘underground water’?
A. Well B. River

C. Sea D. Pond

[N o -

Tepfcieh FTd GIRT Sl T A hErd 4
31, Heodre 9. AMThdTe
. Sifd-are T, geH—fderd

The development of organism by natural selection is called —

A. Mendelism B. Lamarkism

C. Darwinism D. Micro-evolution
B Ul HEclld & —

31, U q. [UECH
SRS T T | By oI

Green plants are called —
A. Consumer B. Decomposer

C. Producer D. None of these

ST BT BN & —

3. LH g, IO

10
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24.

25.

26.

4. FSH T T W Pl T8I
Cause of ovulation is —

A. LH B. Estrogen
C.FSH D. None of these
ITRE BT GBI HET Urg it 8 ?

SECRINDEE q. S H

. AT H S gah H

Where are the islets of langerhans found in ?

A. Ovary B. Stomach

C. Pancreas D. Kidney
IRRIfRTT 8™ & Fgivor ¥ fy=faRad & fhaewr 91 maws g ?

3. MRA g, HTHST
. TR T TS

Which of the following is necessary in the synthesis of thyroxine

hormone?

A. lron B. Manganese
C. Chlorine D. lodine

fFTel ST Ui oIl § —

31, AW 4 . ety H

q. RRE H T STH ¥ DIy TEI

Nissl’s granules are found in

11
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27.

28.

29.

A. Nephron B. Nucleus
C. Neuron D. None of these

AT ARTS &1 ol BIdT & —

A.1.5-2.0Kg B. 0.5-1.5 Kg

C.1.2-1.4Kg D. 399 9 ®is gl
The weight of human brain is —

A.1.5-2.0Kg B. 0.5-1.5 Kg
C.1.2-1.4 Kg D. None of these

Mec—gfe JY a1 R—3fte I & MRV Bg Ugadd o gRT &

yfafds g g —
3. IRfdd, T g, Brodf=rdh, e
9. Cbloﬂlr'\‘lcb, 3 Cl Q. CJN*\“ICJI?b, 3 oCl

The image formed by remedial lens in short-sightedness or far
sightedness is
A. Real, erect B. Virtual, erect

C. Virtual, inverted D. Real, inverted

e AR & wu ¥ f=feRead #§ 9 &9 ygad gar g7

3. ITA U g, 3radal gyoT
. Iqddl o T IO o9

Which of the following is used as a side mirror?

A. Convex mirror B. Concave mirror

12
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30.

31.

32.

33.

C. Concave lens D. Convex lens

Jqdd o ERT T yfdfdd grar & —

SRR I . e

H. Bicl g 3H 9 9
The image obtained by a Concave lens is —

A. Virtual B. erect

C. diminished D. all of these
Sl & S.I. 7F D § —

3. S q. Sl /90

. e /90 T SH W PIg Aol
The S.I. unit of energy is

A. Joule B. Joule/Sec.

C. Joule/Sec? D. None of these
3ITRTT BT Alell XA A1 fbe ulRere &1 qRerd 272
31, Y CAECINE
SACNERE! S T 9 By T8I

The blue colour of the sky is the result of which phenomenon?

A. Refraction B. Scattering

C. Reflection D. None of these
A 73 @ oy e gfte &1 =gAaH & ' ar § -
3. 25 #I g. 25 |HI

13
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34.

35.

36.

. 25 I g 259
Least distance of distinct vision for the normal eye is
A.25m B.2.5cm

C.25cm D.25m

P ST ol BT BIGATTR 50 THI & | SHD! efHar g |

A. +5D B. -5D

C.-2D D.+2D

The focal length of Convex lens is 50 cm, It’s power will be —
A. +5D B. -5D

C.-2D D.+2D

e fUoq fhaeT sl o foRT v8dr 87

1 g o

GG S U

A prism is surrounded by how many surfaces?

A. Two B. Three

C. Four D. Five

ITH o B BIHA— # gRac far mar g —
31. gdell gRI 9. gRATR®T gIRT

4. gfcucd gRi g verT UMl g

The focal length of the eye lens is changed by —

A. Pupil B. Iris

14
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37.

38.

39.

C. Retina D. Ciliary muscles

UhTI b UNTI<- & fobas fHra9q 27

3. 1 g 2
N3 T 4
How many laws of reflection of light are?
A1 B.2
C.3 D. 4
BICTH] HRT BT NGRS BNl 2 |

I A o g, 3raddl i
g. I gguT T Ifqdel Ul

The objective of a photography camera is

A. Convex lens B. Concave lens

C. Convex mirror D. Concave mirror

IS U fBRUT Sfadel U UR Fqdd 3MMUfaid 8l, O URTaas & a1 fhror
fpa fdg 9 oraft ?

31. Bibd | q. gehcl—dbs |

q.gd T T e | el

If a ray is incident normally to the surface of a concave mirror,
through which point will it pass after reflection?
A. From focus B. From Centre of Curvature

C. From pole D. None of these

15
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40.

41.

42.

43.

Al U fUSH 9§ UHavll o7 o, df HET A8l BT |

31, Y . qui faergor

4. faerem S T W By T8l

If a monochromatic ray passes through a prism, it will not suffer —
A. refraction B. dispersion

C. deviation D. none of these

g fagd S H Geell I gAH BT BH JoId: HRAl & —

3. Ied Q9 DI Bl ¥, Rer a1

SARIGEIE G| T 3T | DIg TE

In a wind electric generator, the coil is rotated basically by
A. at high pressure of Air B. air at rest

C. air in motion D. none of these

BId DY AT o B arg H wIfad Bl

3. RUMHD . gaTHD

o

g, dN—pd gD T TTH PIs Tl

The power of a Concave lens of a glass in air is
A. negative B. positive
C. Sometimes positive D. none of these

o\ LN

Frifd o &9 fagd &1 gared © ?

3. TS g. UwIsc

. ThY T BT

16
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44.

45.

46.

Which one of the following is a good conductor of electricity?
A. lodine B. Graphite
C. Sulphur D. Diamond

I 1 AL & el U DI BIHF— BT |

A. 50 mm B. 50 cm

C.50m D. 9% 9 ®is gl

The focal length of a concave mirror having radius of curvature 1m

is —
A. 50 mm B. 50 cm
C.50m D. None of these

g A ¥ faRer Areg| | Sl g3 fawer sifveld 9 fa=fera 81 S
z —

31, 3If¥eld | g q. 3ff¥eld & A1 HT!

4. JAf¥eld & ATdId T S | By oI

A ray passing from denser to rarer medium deviates

A. away from normal B. to coincide with the normal

C. towards the normal D. none of these

e o1 IO A B JAd § —

31, ST q. Hlex

. THIR T AeAReR

The device used to produce electric current is —

17
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47.

48.

49.

A. Generator B. Motor

C. Ammeter D. Galvanometer
Sl BT IRIRS Fd & —

31, ggd FHoll g 9R ol

q. B CACIDIRIE

The conventional source of energy is —
A. Wind energy B. Solar energy
C. Coal D. Biogas

B P Yh FHAR Ufced R wWd fRer fRel emufad s8Rl © )

freifeed § oI 9o¥ 3uadd & @1 "fed grm ?
31, faae= §. fagrgoy
. gRIgdA T T 9 9

A white ray is incident obliquely on a glass slab with the first

refraction. Which of the following will also occur?

A. Deviation B. Dispersion

C. Reflection D. All of these

TR R o fregd angfy ) o € 9w ¥ -

3. 220 v fae g™t q. 12 v faxe g1
|, 220 v GG €N g 12 v UEdl Ry

The electricity supplied to our houses is —

A. 220 v direct current B. 12 v direct current

18
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50.

51.

52.

53.

C. 220 v alternating D. 12 v alternating current

ST &1 URATY] H&AT & —

A. 24 B. 28
C. 29 D. 30
The atomic number of zinc is —

A. 24 B. 28

C. 29 D. 30

ST AT BT A D F T 8 7

A. Na,C0O;.10H,0 B. Na,CO;.7H,0
C. Na,C0;3.5H,0 D. Na,CO3.H,0
What is the chemical formula of washing soda ?
A. Na,C0O,;.10H,0 B. Na,CO;.7H,0
C. Na,C0O3.5H,0 D. Na,CO;.H,0
f=ifed & @9 Ued aR® 7 ?

A. Mg(OH); B. NH,OH

C. NaOH D. Cu(OH),
Which one of the following is the strongest base?
A. Mg(OH); B. NH,OH

C. NaOH D. Cu(OH),

gHIeTse fifdha # v o1g &7 aRv® © ?

A.Zn B. Fe

19
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54.

55.

56.

C.Cu D. Au

Haematite is an ore of which of the following metals ?
A. Zn B. Fe

C.Cu D. Au

AhISS SRIH BT Aol fifhd & g fafy grr gar g 7

3. wqur fafe q. BT Y gD

. = T, B IdoTgq fafer

The sulphide ore is concentrated by which of the following

process?
A. Liquation B. Hand picking
C. Calcination D. Froth-floatation process

AT, 2ZNn + 02>2Zn0 f5g yR &) ffhar g 2
3. ST g, favermue
. SETHIHRIT . 3[ggcH

The reaction, 2Zn + 0O2->2Zn0 is which type of reaction.

A. Oxidation B. Displacement
C. Neutralisation D. Decomposition
TSI BT AMTAH G & —

A. C,HsOH B. CsH1206

C. H,SO, D. CsHqsN7

The Molecular Formula of Glucose is

20
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57.

58.

59.

A. C2H5OH B. C6H1206

C. H,SO,4 D. CsHqs5N7

3T T STeir faerae fagd &1 areld &xarl &, ifdh Ik ofel
31. faera gram 2 . Jffder BT

. 3mafI BT ® T T I Pl TE

The aqueous solution of an acid conducts electricity because an

acid is
A. soluble in water B. insoluble in water
C. ionized in water D. none of these

foferm @ Irggaw ora # fd setaed faeme € ?
A1 B. 2

C.3 D. 4

How many electrons are there in the outermost shell of lithium?
A1 B. 2

C.3 D.4

3T ARV & YR g BT I © —

A. Cl B. H

C. He D. Na

The element of zero group of the Periodic Table is —
A. Cl B.H

C. He D. Na

21
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60.

61.

62.

63.

frifha # waifte fagawones d@ &F 8 ?

A F B.K

C. 1 D. Na

Which one of the following is the most electronegative element?
A F B.K

C. 1 D. Na

STl & dgd JMUEed # dUle R S Al 39 Jad Bl & ?

31, AT ERCINIG]

SASESINE T STH | DIy TEI

Which gas is deposited on Cathode in the electrolysis of water?
A. Oxygen B. Ozone

C. Hydrogen D. None of these

TART INR BT pH A9 &7 § ?

A. 2-3 B. 57

C. 70-7.38 D. 9.1-95
What is the pH value of our body?

A. 2-3 B. 5-7

C. 7.0-7.8 D. 91-95

frifdra ARt H @i ot § 2

A. Na,O B. CuO

C. Ca(OH)2 D. HZSO4

22
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64.

65.

66.

Which one of the following compounds is an acid?
A. Na,O B. CuO

C. Ca(OH), D. H,SO,

Ryiifthe # B e GED & ?

3. geal q. foreag oz
SAEIDCIKING CRRIC BRI

Which of the following is Synthetic Indicator?

A. Turmeric B. Litmus Paper

C. Methyl Orange D. Red Cabbage

BTe- SISIITRATSS ool O INfAThAT HYb I1dT & —
3. ArIR® 3T . BIifeld 3T

. PIED 3+ T. BISSIGAIR® 3T+l
Carbon dioxide reacts with water to form —

A. Sulphuric acid B. Carbolic acid

C. Carbonic acid D. Hydrochloric acid

PIOR UISRIZSH BT RIS FEeA § 7

A. CusFeS B. CuFeS,

C. CuFe,S D. Cu,FeS,

The chemical composition of Copper pyrite is —
A. Cu,FeS B. CuFeS,

C. CUFGQS D. CUQFGSQ

23
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67.

68.

69.

70.

Ui § Had sravem H uTg SiHdaTel! o1g 8 —

a1, Riw q. =
ARSI A

A metal found in the Free State in nature is —
A. Zinc B. Gold

C. Iron D. Copper
frifea § eF— a1q 9e9 s1fde ifafharefia g 2

A. Zn B. Ag
C.Au D. Cu
Which of the following metals is the most reactive?
A. Zn B. Ag

C.Au D. Cu

el a1eITg & II8aH U H gelag Al & AT B Ahdl § °
A.3,4,50r6 B.4,5 6o0r7
C.1,2,30r4 D.2,3,40r5

The number of electrons in the outermost shell of non-metal can

be —
A.3,4,50r6 B.4,5 6o0r7
C.1,2,30r4 D.2,3,40r5

graer Fifed | farar fMstearg € 2

A.Cu+2Zn B.Fe + Ni

24
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71.

72.

73.

C.Cu+Au D. Cu + Sn

Brass is an alloy of which of the following?
A.Cu+Zn B. Fe + Ni
C.Cu+Au D. Cu + Sn
frefoRad # @I |AaIdr § 2

31. AfYS Uedlslal iR STEARI 2R

9. UieH SR URicfeserss

. IR Vedied SR SEHRA oR

T, U 3R urEH

Which of the following are isomers?

A. Methyl alcohol and dimethyl ether

B. Acetone and Acetaldehyde

C. Ethyl alcohol and dimethyl ether

D. Ethene and Ethyne

CH3 — O = C,H5 &1 IUPAC 9uTTell & IR M & —
3. BATRNUST CAC NG EDE

. QATRIAIT T QRIS SR
The name of CH; — O — C,H5 according to IUPAC system is —
A. Methoxyethane B. Propoxymethane

C. Ethorymethane D. Ethylmethyl ether

e B JAMAHIT 99 F HRE WR dAlg BT DI AT 3adTgs I9d7 2 |

25
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74.

75.

A. Fe;0, B. Fe;0,

C. Fe, 0O, D. FeO

Which oxide of iron is formed when iron is treated with steam?

A. Fe;0, B. Fe;0;

C. Fe,O; D. FeO

T dcd DI URHATY] HAT 16 7, ATad AR H §H dcd DI G FAT H1
g?

A. 15 B. 2

C.16 D.4

The atomic number of an element is 16. What is the group number
of this element in periodic Table?

A. 15 B. 2

C.16 D.4

FfoiRad § @9 A o1g O FergRd 3R & A1 SfWfhAT & Bl
g ?

A. Zn B. Fe

C. Cu D. Mg

Which of the following metals does not react with dilute sulphuric

acid?
A.Zn B. Fe
C.Cu D. Mg

26
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76.

77.

78.

ug fAsearg # 90 ufderd Cu iR 10 ufera fes1 21 59 fstang &1 9™

sy
3. e CREI]
. gidd T oA Raeer

An alloy contains 90% Cu and 10% Sn The name of this alloy is
A. Solder B. Bronze

C. Brass D. German Silver

i AIfsad sgsIaass & A1 UfIfhar d) 947l & —

3. H, 1 q. 0, 4

. H, 3R O, 19 g1 g ZnO

Zinc reacts with sodium hydroxide to form —

A. H, gas B. O, gas

C. both H, and O, gas D. ZnO
frfoiRad § & M o1 9y 4 S=g 9™ W) TH BT S wR oA

iTeAIST & HAWT 81 Bell © 2

A Al B. Cu

C. Ag D. Hg

Which of the following metals does not combine with oxygen even
when heated at high temperature in air.

A. Al B. Cu

C. Ag D. Hg

27
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79. 31D H IURYUT IUEH FHEA & —
S AECIRI| q. grgAd
SRR T T W By T8I
The impurities present in an ore are called.
A. minerals B. slag
C. gangue D. none of these
go.  fr=foRad # & 01 & HROT grgell & IR I9Y S & 2
31, JrETdaEIar 9. SHI ATAD
|, qgdr o, HORAl
Due to which of the following properties of metal, wires are made?
A. malleability B. thermal conductivity

C. ductility D. hardness

Wuvs—9 (Section-B)

Hifaed = (Physics)

oY SN 939 (Short Answer Type Questions)

U W1 1 9 8 OF ofg SR 2 | 399 4 Bl 4 Ul &1 SR < | IS U B
forr 2 3fw feIiRa 2| (4x2=8)
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Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. (4x2=8)

1. Bl arete o1 ufeRre fh= 91 W AR dvar 2 ? 2

On which factors do the resistance of a conductor depend?

2. IANHONT Holl—d T & ? DIs &l I8N S | 2

What is nonrenewable source of energy? Give any two examples.
3. Il o TG 3raad o H 3R T A | 2
Distinguish between a convex lens and a concave lens.

4. A GeAGel T & ? $HDT U [hR0T 3RE Wl | 2

What is a simple microscope? Draw its ray diagram.

5. fag]d #Iex &1 =1 figld & ? 2
What is the principle of electric motor ?

6. THIeR U4 diccHley & SUINT gdv | 2

Explain the uses of ammeter and voltmeter.

7. G BT FHASTH—&HAT (power of accommodation) &1 FIT AT &7 2
What is meant by power of accommodation of the eye?
8. IS ol &7 8 ? 2
What is geothermal energy?
dd 3T 9% (Long Answer Type Questions)

o AT 9 3R 10 Y IIRI U9H 2 | 399 I fhddl U &1 SR < | IS U B
foTu 6 3f AYRT B | 1x6=6

29

https://www.evidyarthi.in/



Question Nos. 9 and 10 are Long Answer Type questions. Answer any one

of them. Each question carries 6 marks. 1X6=06

9. Wéﬁ?a%ﬁﬁﬂg%-%:%a%@ﬂwaﬁl

Establish the relation % - % = ]lc for a convex lens.

10.  FHN & & S-S ol bl [Aed—Holl H gaell ST Fobdll & | ST SHoll
& QI o WY ford |
Explain how water energy can be converted into electrical energy.
Also write two benefits of water energy.

A I (Chemistry)

oY 3N 939 (Short Answer Type Questions)

U3 T 11 ¥ 18 b oY TN & | 30 A el 4 U BT SR < | GAD T
& farw 2 ofa PuiRa §) (4x2=8)

Question no. 11 to 18 are Short Answer Type questions. Answer any 4

questions. Each question carries 2 marks. (4x2=8)

11. I FueTsli TR MR bl g S &1 19 9dTv | 2

Name any two industries based on forest resources.

[N -

12. Frifhd & Scolagia—fdg dR=AT a4 | 2

(i) H2S (ii) F2
Draw the electric dot structure of the following.

(i) H2S (if) F2
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13.

14.

15.

16.

17.

18.

=it sifdfohamsti # Su=afyad dem su=Rd gFdrel ugrel &l ugdar
PIFTY | 2
(i) 4Na(s) + O, 2 2Na,O(s)

(i) CuO(s) + Hx(g) = Cu(s) + H,O(aq)

Identity the substances oxidized and reduced in the following

reactions.

(iii) 4Na(s) + O, 2 2Na,O(s)
(iv) CuO(s) + Hx(g) = Cu(s) + H,O(aq)
ALY JFFATHAT A 3T T IHS & ? AT qHY | 2

What do you mean by precipitation reaction? Explain with an

example.

Tahd faverus sifdfdhar wr g ? 2
What is single displacement reaction?

e & Il § dia—A1 19 99 Bl 8, 3R @i ? 2
Which gas is filled in the bag of chips, and why?

faRSTen <ol 91 © ? SHHT AS AM, g Ud IUANT T | 2

What is bleaching powder? Write its chemical name, formula and

uses?
fRATgT 3R 9IRUT § 7 AR B P 2

What are differences between calcinations and roasting?

4" ST 939 (Long Answer Type Questions)
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U3 AT 19 IR 20 <Y IR 2] 38 I A Uk BT SR < | IS U B
forg 5 3f feIiRa 2| 1x5=5
Question Nos. 19 and 20 are long answer type. Answer any one of them.

Each question carries 5 marks.
19. O & I 3GWP Bl M ford | SRl BT SAD 3D U [T=hy &

RIGIT &T avfe & | 5
Write the name of main ore of Zinc. Describe the principle of

extraction of zinc from its ore.

20. BISSISHIGRY JAATHIT T & ? 39 AAfhaT &1 Th AuReG STINT

gy | 5
What is hydrogenation reaction? Give one commercial use of this

reaction.

siila fas= (Biology)

oY 3N 939 (Short Answer Type Questions)

U3 T 21 ¥ 28 b oY NI & | 30 A bl 4 U BT SR < | GAD T
& forg 2 ofe fIiRd T 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. 4x2=8

21, UdHTemgdad ¥ § ? 2

What is phototropism?
22, TN §H GRS < | 2
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Define nutrition.
23, U T HERO UH H N U W b glar © 2 2

How characters are transmitted from one generation to the next?

24, I wicelcd @I Iad S H ] AP & ? 2
What is role of blood platelets in blood clotting?

25.  QIARIE U1 | MU FT FHIT © ? 2
What do you understand by genetic trait?

26.  URAA # IUHISIHT @Y AT HABT BT & ? 2

What is the role of detergents in the ecosystem?

27. NI INT & &7 BT BRUT foTd | 2

Write the reason for the depletion of ozone layer.
28. AN YA & I[aIdl B glaed AET @7 7 7 2

What is the percentage amount of components of human urine?

e a8 939 (Long Answer Type Questions)
o =T 29 IR 30 Y IR 2] 38 I A Uk BT SR < | U U b
foru 5 3fp fAYRT 2 | 1x5=5

Question Nos. 29 and 30 are Long Answer Type. Answer any one of them.

Each question carries 5 marks. 1x5=5
29. el YT BIRIPHI TAT TId & PIRIGT H 3R g1y |

Differentiate between red blood cells and white blood cells.

30.  SAe—<ae (tissue culture ) &1 87 IE HA AF BIT B2

What is tissue culture? How is it accomplished?
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